
SAP ABAP table TBOSECP2 {Cost Elements for Condition Types}

TBOSECP2

MANDT [CLNT (3)]

KALSM [CHAR (6)]

ELEHK [CHAR (2)]

ELEMT [NUMC (3)]

KSCHL [CHAR (4)]

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]
 TBOSECP2-KALSM = T683-KALSM 1..N

1

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 TBOSECP2-KSCHL = T685-KSCHL 
1..N

1

TCKH3

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

ELEMT [NUMC (3)]

 TBOSECP2-ELEMT = TCKH3-ELEMT 

1..N

1

TCKH4

MANDT [CLNT (3)]

ELEHK [CHAR (2)]

 TBOSECP2-ELEHK = TCKH4-ELEHK 

1..N

1


